
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

lim
𝑥→2

𝑥2 + 1

lim
𝑥→2

𝑥−2

3

lim
𝑥→

𝜋

2

sin 𝑥

2

𝑓(𝑥) = −𝑥 + 1, 𝑥 < 0

𝑓(𝑥) = 𝑥 − 1, 𝑥 > 0

𝑓(𝑥)

lim
𝑥→0−

𝑓(𝑥).

lim
𝑥→0+

𝑓(𝑥).

lim
𝑥→0

𝑓(𝑥).

lim
𝑥→∞

√
𝑥2 + 𝑥 + 1

4 ⋅ 𝑥2 + 2 ⋅ 𝑥



 

 

 

 

 

lim
𝑥→1

2 ⋅ 𝑥2 − 𝑥 + 1

lim
𝑥→4

3 ⋅ log2 𝑥

𝑓(𝑥) = 𝑥, 𝑥 ≤ 1

𝑓(𝑥) = 𝑥2 − 𝑥 + 2, 𝑥 > 1

𝑓(𝑥) =
𝑥3−1

𝑥2+1
, 𝑥 ≠ 1

𝑓(𝑥) = 3, 𝑥 = 1

𝑓(𝑥) = 𝑥3 + 𝑥 − 1

[0,1]



 

 

 

 

 

𝑓(𝑥) =
2

𝑥4

lim
𝑥→∞

𝑓(𝑥)

𝑥3

4 ⋅ 𝑥 − 8

𝑓(𝑥) =
𝑥2 − 5 ⋅ 𝑥

𝑥2 − 6 ⋅ 𝑥 + 5

𝑓(𝑥) =
1+𝑥4

𝑥2−𝑥4.



 

 

 

 

 

 5

 0
1

2

 𝑅 − {0}

 1

−1

1

2

2

6

𝑅 − {1}

𝑅 − {1}

0 𝑦 = 0

𝑥 = 2



 

 

 

 

 

𝑅 − {1,5}

𝑥 = 1 𝑦 = 1

𝑥 = 1, 𝑥 = −1, 𝑥 = 0

𝑦 = −1


